
Scientific Notation (G)Convert each ordinary number to scientific notation.
5,994 = 869,900 =

84,000,000 = 9,115,000 =
585,000 = 1,310 =

6,570 = 63,000 =
84,520,000 = 7,900,000 =

220,000,000 = 73,000 =
320,000 = 2,700 =
670,000 = 782,000,000 =

3,809,000 = 489,000 =
253,600 = 380,000,000 =
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Scientific Notation (G) AnswersConvert each ordinary number to scientific notation.
5,994 = 5.994 × 10³ 869,900 = 8.699 × 10⁵

84,000,000 = 8.4 × 10⁷ 9,115,000 = 9.115 × 10⁶
585,000 = 5.85 × 10⁵ 1,310 = 1.31 × 10³

6,570 = 6.57 × 10³ 63,000 = 6.3 × 10⁴
84,520,000 = 8.452 × 10⁷ 7,900,000 = 7.9 × 10⁶

220,000,000 = 2.2 × 10⁸ 73,000 = 7.3 × 10⁴
320,000 = 3.2 × 10⁵ 2,700 = 2.7 × 10³
670,000 = 6.7 × 10⁵ 782,000,000 = 7.82 × 10⁸

3,809,000 = 3.809 × 10⁶ 489,000 = 4.89 × 10⁵
253,600 = 2.536 × 10⁵ 380,000,000 = 3.8 × 10⁸
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